02 12 17

G )
2,756 2,756 o | o | 0 0
R3 RS R7
R7 100
R7 0 0 100
R7
100
0 100 100
5 RS 9 RY
25 55 90
ha 52.6ha
0 R 100 RY
0 42 100
km 70km

0000439220




R03 |R04 [RO5 [RO6 [RO7

A07-001 [ B BN B B 464
SM
A07-002 n n n n n 1,247
SM
A07-003 [ B BN B B 29
SM
A07-004 L=0.10km [ I 37
A07-005 L=0.86km [ A B A B | 919
A07-006 | | | | | | | | L=70kn [a[n[n]n] 60 | |
] L | I

0000439220




R03 |R04 [RO5 [RO6 [RO7

0000439220




AT DOBITIRIL

(Bfr-BhEH)
R3 R4 R5 R6 R7
ﬁa(ﬁ;)ﬁ 127 84 120
A
B AT 0 0 0
(b)
()?‘jjf) 127 84 120
éuﬁfﬁrﬁ(z))@%ﬁ‘zﬂi%’,é 0 79 80
i*ﬁf = 48 83 66
ﬂﬁﬂ@%‘?ﬂ%ﬂ%ﬁ‘ 79 80 134
V) Eﬂ%(@grﬁ;’]n‘ﬁ‘%ﬂfﬁé "9 5 10
A HER
(h = c+d-e-f) 0 0 0
AR + A H] R ) , )
(h = (a+h)/ (ctd)) 62. 2% 1. 8% 5. 0%
TAe - k. o
FHIME D70
;577 Eﬁ(ﬂiﬁé@f
R+ R 10% 22 | N2 LM
TWH5EHaZ OBH g;}ﬁi?’g”
HEFBO T
Mb=Y A%

I L0




AR |HET

T D £ F5 |aﬁﬂifiﬁl‘ob\wxﬁiﬁ@ﬁijsmﬁﬁ(Mﬁé-fé)
TEQHARE | SH3EE~FHTEE (5FRH)

T { 2o de 21

Y AR TE

£% (54 HEE

7

B¢

AO7-004 RBMXHE LRI

T =
T T =

HEGTARTAE (FK)
SHHEES A=2,430ha
FEHERSE A=1,618ha [ ]

[ A07-008 zbhvovRUAY FER CEBER) |

| AOT-006 FUZLZESE




S EoANGKIRIRDOBE FEI3HIGTE (K -RE)

MBEE~SHNIEE (5FER[) [ZRfGxt% [HEH

AOT-006 FUBIEREFE |

g

‘ A
TR (k) SHEE

TS
=

&)

54
\ * 1”’; %}

] AOT-002 ZhyDIVRIRY FEE RV TS




0000439220



